The x-intercepts of a parabola are 2 and 8,
find the equation for the Line of Symmetry.
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Intercept Form (Factored Form)

Y = (Xx-m)(x+n)

1. Find x-intercepts first: Y= W\)-t’\

2. Find LOS: x = w71

N
3. Find the Vertex | ( ! ; )

4. Find y-int: Replace x with zero.
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Forms for the Equation of a Quadratic

Standard Form

y=ax’+bx+c
. e =
LOS: x 2

Vertex: (% )

Replace x

y- int: with zero C

y=a(x-h?2+k
Vertex: (h,k)

LOS: x=h

Replace x
with zero

y - int:

Intercept Form
(Factored Form)

y =(xm)(x+n)

LOS: x=avg of
x-int.
Vertex: (‘/ | )

. ¢. Replace x
y - int: with zero
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y = 3X(x+6) ‘
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x-intercepts Eggor y-intercept
1. y=(x+7)(x-1) -7, | Y=-3

2. y=(5x+3)(x-8) -3 ¢

3. y=@xT)@dx+9) | 7, -4
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4. y=3x(x+10) d -10




